.\.\,’:C\.'\.}Y\,{-iz

4
% 21,

seese

%
2

o N b e LW
g W
QF.T
Poher” o,
) ézsr Y
puserar
ware

k]
'tz3
S
.'..E‘Z{M‘DT

IYNDON F. S

POWERED BY""
il

ENDURA

DOOR COMPONENTS MADE IN THE USA r}“\f,

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

112.25" MAX. OVERALL

opaque Steel Door FRAME WIDTH

"NON-IMPACT"

BUILDING CONSULTANTS, INC.
P.0O. Box 230 Vairico FL. 33595

Documents Prepared By

Phone No.:

INSWING / OUTSWING ] H n; ] _B
32
&S
6 < g%
O =Sz 5 Ixks
2% g3 2 P o
52 >3 R e
Sz 00 g L
<0 < o 5 SRR
<o 2@ X © a S
25 &3 S BE
83 = % o o
© § = é
EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ D R '852 B - g &
The Steel Door system described herein complies with the 2018 Intemational w
Residential Code (IRC), Sections R301 & R60? and the 2018 International Building S
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following ©
condiions: g
1. Anchors shall be as listed and spaced as shown in the details. Anchor § 2
embedment to base material shall be beyond wall dressing or stucco. | o 12
2. When used in areas requiring wind-borne debris protection this product is 5| &
required to be protected with an impact resistant covering that complies N E'
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. 2
3. Allowable design pressure requirements must be equal fo or less than the E
design pressure rating shown in the design pressure chart, sheet 1 of this g
4. drawing. 2
Conditions not covered by this drawing are subject to further engineering N
analysis. E g
TABLE OF CONTENTS =l
SHEET # | DESCRIPTION -2
1 [Typical elevations, design pressures & general notes (o) (o] INSWING +35.0 -35.0 DATE: 10/27/16
2 Door panel details SCAE  N.T.S.
3 Slidelte panel details {lip lite insert glazing) (e) (o) OUTSWING +40.0 -40.0 DWG. BY: JK
4 Horizontal cross sections ' CHK. BY: LFS
5 Vertical cross sections DRAWING NO.x
6 Vertical cross sections TX—4640
7 Frame anchoting

sHEET 1 oF 7

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-852 JELD-WEN Steel Opaque (LK,DB\C - Drawings\TX-4640.43.dwg




.«&'N“;::- H u( gg
Foriiatiyh, <% p
i U] H ’6:3;\’:“‘.‘ :E % E: ’..."/‘9’,‘.‘5 (i:’ gi g é §
0.81 INTERIOR 33 081 Bwi, iGio o §- 8 Z°
- P BN oy 2l ougm 9
TRE - IR wt = 45 HY
T3 LSRR LR TCIRE ] A izi2 O it 3x
* Sassesssssssessasicses T o LB S 8 fss i
o aSeSedeeSedesegesed o~ b, 101 ) 5 HI8 pE
2 0202020202020 %0 20020 N e S 2 3 3Jge 7
AL ! iZ 1 2% Eg
" 0020200200200, HXEITGE Zom
..................... on [e}-44
‘ lReaegeqeseoeseoegeseseges: — A~ — |||} & OV Tl
b 2 8% u
\ EXTERIOR / g 3 ﬁ § Zé
LOCK BLOCK § 3592 Bp
HINGE STILE (LVL) (WOOD: 11.88' lONG)  ATCHSTLE (VL) 5 = 88
PR
/" 1"\ HORIZONTAL CROSS SECTION : ©
0
\2/ ~— 175" — o
35.75" MAX. TO(EVRL';\'L "
PANEL WIDTH S
<<
by
= <C Q
P & € Ixyge
1 = a = %Z
& |3 &%
l O
|l X
o
24 GA. STEEL = o S
(&}
1) - DOOR SKIN \ S S
<7
[ —
2]
5 L
[ XN
f u
o 1/4 Q
z O
& o
% INTERIOR EXTERIOR 4
: X g 2
P ol 1@
R / s 2
& Q'
[&]
=
FOAM CORE ty
\ Qg.
D
~
N
| R
NS
\_/ . -
BOTTOM RAIL —] 35{5 - Z
(WOOD) oaTE: 10,/27,/16
DOOR PANEL ! SE  N.T.S.
JELD-WEN DWG. BY: JK
Steel (Wood Edge) cH<. BY:  LFS
/"2 "\ VERTICAL CROSS SECTION R T
DOOR SKIN: 24 GA. STEEL (0.022" MIN. THICKNESS) \2/ TX—4640
CORE MATERIAL: POLYSTYRENE FOAM SHEET 2 OF 7

ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-852 JELD-WEN Steel Opaque (LK,DB)\C - Drawings\TX-4640.43.dwg

@ 2016 R.W. BULDING CONSULTANTS IND.



H o «:C .’i L]
081 EXTERIOR 081 - SR v g
\ Fonigi g3 £y
=1 Sy 12 EXT 8§ 48
? S asssassasssssasesll: fov iE £+ 8 4
: o2efelalele2e 202020202020} : : I S fu ¢gR BT
2 102020202020 %0 %0 20 e a0 80!t - g i BT 108 vt E s fu
= 02e2e2e20 2020205050500 0g0!1:" : doi i FE2 m
! | [Rea8e93ee95e08500800080058] . L & I —175 = @ Eig 5B
i 5 N ™ gi;‘ \/"0, -4 5’ E m. 0
m— q {3 et Y
\ y— INTERIOR / TOP RAIL ?zh{x x5 o 295 E%
(LVL) e & ocz ED
STILE {LVL) STILE {LVL) - S gzf b
2 3.0
= o 5 " 5 E
-— . m oo
1"\ HORIZONTAL CROSS SECTION 2 S 33
&/ 5 gﬁ
£ @ W
=
24 GA. STEEL 8
DOOR SKIN \
hoX /2 — GLASS BITE 1/2" "
PPH SMS 2=
35.75" MAX. PANEL =3
WIDTH INTERIOR —— 1/2" OVERALL GLASS THK. ] A
D 21" MAX, 3 Q & g | ok
D.L.O. WIDTH | __— 1/B"TEMPERED GLASS § 5 28
= =
; > C - | A
3 "AIR SPACE g gl 5=
i / ) ) S; \ 1\ s x gq
, ~ R 1/8" TEMPERED GLASS 3 Sa
(10 / o \ / INTERIOR EXTERIOR =N S
\3 /| | 1Y : | EXTERIOR STEEL SPACER 4 2 %
= u | QSO SEALANT il =
O 5 4A LOW TACK SEALANT o 1)
T o . . . —1
I S ) GLAZING DETAIL gl W
Z < #6x 1-1/2" PPH SM$ C) (i"_———-—L—*- = S
a- (a L, (TYP.) Be00.0,08 o
2 3 y €
< : N
= = in o v
in 5 e - @ =
N Ve T O
& . g é
in N ]
© o
/ FOAM CORE S
. /// : . . =
e S— — — B S
325 | | T T §
w (TYP) . _i { Ql,
N Sl
) ODL LITE FRAME - _ y NE
| ? BOTTOM RAIL - =3
(WOOD) ~Iz
. SIDELITE PANEL ? ONTE: 10/27/16
JELD-WEN 1.38" —= scale:  N.T.S.
Steel (Wood Edge) DWG. BY: JK
2 \ VERTICAL ;
ODLLITE FRAME /3\ CAL CROSS SECTION ——
‘ HP Polypropylene U DRAWING NO.:
SIDELITE SKIN: 24 GA. STEEL (0.022" MIN. THICKNESS) TX—4640
CORE MATERIAL: POLYSTYRENE FOAM
SHEET _3 oF 7

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK,DB)\C - Drawings\TX-4640.43.dwg

@ 2016 R.W. BUILDING CONSULTANTS INC,



Z:\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-852 JELD-WEN Steel Opaque (LK, DB)\C - Drawings\TX-4640.43.dwg

SIDELITE PANEL / EXT. SHEATHING
b B
EXTERIOR
y O = y E— S
//// /// s
/ / S L “L:i{“:‘i\:\f‘:":u
2X FRAMING
(2 N @ | L (e>=042)
#8 X 2.5" COURSE THREAD /
\U 1' l O DRYWALL SCREW
O mJ O~ (See Note 1) /
x\ & o7 || T
\ |l DEADBOLT: KWIKSET SIGNATURE SERIES e
/ / | (780/783] INTERIOR —
/// /// T~ LATCH: KWIKSET SIGNATURE SERIES / \ DRYW
/ / JAMB ALL
/ / (91) #10 X 2.5" PFH
1/4" MAX. WOOD SCREW
SHIM SPACE
b b q q CORNER PADS (TYP.)
— m HORIZONTAL CROSS SECTION
5 / 3\\ ﬂ\ m 4 w Outswing shown - Inswing also approved
NI
0.75" _‘1"'—>1 S— ].5" —
#8 X 3/4" PFH SMS 4" HINGE ATCH STRIKE PLATE
\ #8 X 2.5" PFH WOOD SCREW 48X 1"PRHSMs  DOORPANEL
9 N, sl
| s s 2
&S il _
/ 4 \ .
/ :l'
‘ #8 X 2.5" COURSE THREAD : - SO WE?&?ESSZEES \—
DRYW;\LL riC:‘QE\]N DOOR PANEL SIDELITE PANEL
— 125" = 2.5" (See Note 1) #8 X 2.5" COURSE THREAD
DRYWALL SCREW ——
JAMB / HEAD FATBOY MULLION (See Note 1) ]
PINE PINE

NOIE:
1. Spacing for sidelite screws: 6.5", 38.5"
and 69" from head to sill {3 total).

4-3/8" FATBOY PINE MULLION

4-3/8" FATBOY PINE MULLION —/

(3 "\ HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved

m HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved

Documents Prepared By:

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

Ry

PRODUCT:

ENDURA
FIBERGLASS DOOR

PART OR ASSEMBLY:

HORIZONTAL
CROSS SECTIONS

LFS
BY

REVISIONS

11/10/21]UPDATE TO 2018 IBC/IRC CODE

1

DATE: 10,/27,/1

L
<C
[
S
pd
6

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4640

SHEET 4 oF 7

© 20186 R.W. BUILDING CONSULTANTS INGC.



S SNEY ;
st
LSO 8 2o
~ 0 'ho : ; - in
FANETE £ g 8
— 2X FRAMING £ G oy 9m  OF
T >(‘(c;>=0.42) %‘.%i“‘% PR Ry
i 114 / N f“&;‘. ? 1 & I(Q * g*
‘:’\/‘% 10 3 Z 8o Z
1|4 L A 0 3 £ 2tg Q8
itk Ui 5° 558 gf
EXT. SHEATHING ’ | —Drvwau iy i 5>2 HE
#1114 - / Prpeeed® > 8R - gﬁ
J o 5 ©x2 =
S e g [ 016
“b—#10X 2.5"PFH 8 265 gu
1 WOOD SCREW ¢ Aaen gg
1/4" MAX. ;. NOTE: : ok
SHIMSPACE [l o * Spacing for sidelite screws: e Q% gm
bZa 6" from each end (2 fotal). 3 ©
S 0
O~ a
DOOR PANEL \ \ —-—i "
[ @]
HEAD 2X FRAMING 2
(G >=0.42) <
ENDURA WEATHERSTRIP & . A
(QEBD/PE 650) B g 5 |Fe
i = O
EXTERIOR W INTERIOR I 4 3
LN 5 =
DRYWALL ¢_ ] / EXT. SHEATHING 2 o 4
- B e
1"\ VERTICAL CROSS SECTION \ o i & 5
- = - P SR
W Outswing shown - inswing also approved L THI— #10x 2.5 P g >
j . WOOD SCREW
1/4" MAX. o ' L
SHIMSPACE ™~ | - WL N S
bZao
SHE 2
@) (102
m Z
SIDELITE PANEL —\ m—i o] 12
-~ )]
T | s 2
N o
o
#8 X 2.5" COURSE THREAD HEAD =
DRYWALL SCREW —— | fu
{See Note 1) g
INTERIOR " EXTERIOR R
— EE—— Nl
Sl
NS
m VERTICAL CROSS SECTION - g
Inswing shown - Outswing also approved
\5_/ Inswing 9 diso app oate: 10,/27,/16
scAE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4640

SHEET _ 5 of _7

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD} - DR-852 JELD-WEN Steel Opague (LK,DB)\C - Drawings\TX-4640.43.dwg

© 2016 R.W. BUILDING DONSULTANTS INC.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK,DB\C - Drawings\TX-4640.43.dwg

ENDURA WEATHERSTRIP

— - A\ Y
2 ENDURA DOOR /‘
DOOR SWEEP PANEL N

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

SIDELITE
PANEL -—4 .
e
#8 X 2.5" COURSE THREAD s 3‘!\
DRYWALL SCREW NI
(SEE NOTE 1) S k\\\% ;\\\\\\.\_;‘,
INTERIOR \ EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION
w Inswing configuration

b
I

| 456" |
2} INSWING ADJUSTABLE THRESHOLD

1 INSWING ADJUSTABLE THRESHOLD
ZAIL4565

LAI4565FN

N ———
6 INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD
IACL4565 ZACA4565FN

W Inswing Articulating Threshold

456" -]

@ OUTSWING THRESHOLD
I0BL4565

12 OQUTSWING THRESHOLD
ZOB4565FN

SIDELITE ~
PANEL\

#8 X 2.5" COURSE THREAD —— LS %?E)‘?
DRYWALL SCREW I
SEENOTE | Wy
( )
EXTERIOR N

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION
\6/ Outswing configuration

bl 456" | £ 4.56' ———]
3 ) HSWING ADWSTABLE HRESHOLD. (" NSHING ADJUSTABLE THRESHOLD
ZAILAA4565 ZAIAA4565FN

b 456" | [ Py —

8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD

IACLAA4565 IACAA4B65FN

4.56" ‘
13 OUTSWING THRESHOLD

LOB4565RDS

W Outswing Bump Threshold

I

(=)

tyndon F. Schmidt, P.E,
TEXAS P.E. #104123

vy
aycg .'"o —
et Chl
Aot 123
EAS
P HEH
p 103
u.fed furl
A ARrS
AL 10
& in
3?‘& *s M 14
B g i Z
‘,Z ¢ getom b
et
Wi
NOTE:

* Spacing for sidelite screws:
&' from each end (2 total).

|

—=— 1.34"

4.56"

1

5 INSWING ADJUSTABLE THRESHOLD

ZAI4565RDS

b

1.6"

1

4.56"

10 INSWING ARTICULATING THRESHOLD

P.0. Box 230 Valirico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

x

S 2

8 [e)

~J=

& ovl., 38

2D VX =0

S I3 &,

o 2lal Sao

il o

mi o

. o)<l ©
5 >
S kS
S &
. o

>

o

REVISIONS

ZAC4565RDS

11/10/21]UPDATE TO 2018 IBC/IRC CODE

1

Lo
<
fan}
3
=z
6

DATE: 10/27 /1

SCALE:  N.T.S,

DwG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4640

SHEET 6 oF _/

@ 2016 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK,DB\C - Drawings\TX-4640.43.dwg

s o 2X FRAMING (BY OTHERS) e
e T .“'l -
96% ST 33 0
Eox & FANEINS X g i
378 ‘ z = () EAS EH ORI E I
< B (TYp) r g ZiF . iBie dle 270 &l
1 [~ ) | 2 Ngi0iC 8|s% £%5 3T
* = = s Wiy N3 Sa 2%
T — T TR 1 T T 1 ] T 2°% V izi2 N 5E 5E8 88
SEE HINGE ~_ |- \~ \‘ 177 : | Por. 2% g-n UE
—_— Sy, 15 [o
DETAIL 1 NEE T #10X 2.5" PFH DETAIL 1 DETAL 1 o Gy 5 B8R gg
0 WOOD SCREW | & .2 3 < 1 ECR v 252 . C
< (TYP. @ HEAD S = £ oo 2§00 Of
P AND JAMBS) >~ 3 & 592 Bu
— a a« Mmoo 8 5
- % [T S @ [
= \ C i E
0 £ § i}
EE N 1 4 \ 3 g = 0
) % #8X2-1/2'PFHWS | 8
SEE HINGE !ﬂ T %
-1 | |{®
DETAIL 2 - SEE STRIKE/ 1 o #8 X 1" PFH WSé’ e S #8 X 3/4"PFH Ws
PLATE DETAIL w 1 4" X 4" HINGE 2
' =
h& ‘ \ S
DETAIL 1 DETAIL 1 g o B
: N | HINGE DETAIL 1 s |42
i 1IN | LU I & =
WREA 1 I 1 LY L1 w 2
%A . S
| #8X2-1/2'PFHWS [ x
#10 X 2.5" PFH WOOD SCREW 2 e
m _ u 3 - x <
FLOOR SUBSTRATE MATERIAL (TYP.) 1/4'X 2-3/4"DeWALTOR  erpive 1AMB o [] & £
HINGE JAMB CONCRETE [MIN. 3000 PS) FRAME ANCHORING TW CONCRETESCREW ~ 2-R= <AV 48X 1" PFH W <08 LSS 4e x 34 PR ws
OXO (TYP @ SILL) e e 1%
WOOD (G >=0.42) ~— 4" X 4" HINGE =l
\\\ §
O
HINGE DETAIL 2 o
S o
@ |2
o
2 @
& é'
£
B
CONCRETE ANCHOR NOTES: S
1. Concrete anchor locations at the corners may be adjusted to maintain the min. 3
edge distance to mortar joints. N
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to ) E‘
maintain the min. edge distance to mortar joints, additional concrete anchors . - DEADBOLT SECURITY (NS
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8X 2-1/2" COURSE , STRIKE PLATE =l
3. Concrete anchor table: DRY\T&—{:E.ASDCREW #10 X 3" PFH WS =< - %
Shitthahd o THIN, CLEARANCE s e 10727715
DJACENT N\ #8 X 2-1/2" PFH WS —=— ATCH SIRKE scae N.T.S.
— ' — DETAIL 1 — PLATE pwe. B JK
® 1/4" 1-3/4" 1-1/2" 4" Integral mullion attachment cHk. B::  LFS
LAP;Z'TV / ! STRIKE PLATE DETAIL BRAWING NO-
e " " " " TX—4640
uLTRACONE| 1/ 1-3/ 1 4

SHEET _7 oOF _7

© 2016 R.W. BUILDING DONSULTANTS INC.



